Eyes open vs. closed t2(86)

Pp—Normality (Kz)

10 :

Pp—-Normality (K2)

=Y
o

T+++++++++++ ottt b+

-15 -1 -0.5 0 0.5 1
pl or p2 in Box—Cox transform

Ry

LIRS

+3
_|:.
Y
@
+5
+7%

o

-1

-15 -1 -0.5 0 0.5 1
pl or p2 in Box—Cox transform

m— Epoch-level (pl)
Participant-level (p2)
---+ - Critical t at alpha = .05

Eyes open, Epoch-level (p1)
Eyes closed, Epoch-level (p1)
Eyes open, Participant-level (p2)
Eyes closed, Participant-level (p2)

Critical K2

F+ o+ o AN

m—— Fnoch-level (pl)
Participant-level (p2)
-+ Critical K?

-15 -1 -0.5 0 0.5 1
pl or p2 in Box—Cox transform



